[>
[>
[>
>
>

> with(LinearAlgebra) :
(

with( VectorCalculus) :
with(Student| LinearAlgebral) :
with(SignalProcessing) :
with(Statistics) :
with(stats) :
with(IntegrationTools) :
infolevel[ IntegrationTools] :
with(LinearAlgebra) :
with(Student| Statistics]) :
N x:=30:Ny:=30:
nx:=24:ny:=24:

M[1]=6:24[2] =5:00:=30: vv:=§:

T x[ 1] := Determinant(Sample( DiscreteUniformRandomVariable(0,N x —n x), 1)) :
for ifrom 2 ton x do

T x[i] == Determinant[Sample

Sean)]|

end do:
R x = [seq(t x[nl],nl=1.n x)|;

T y[ 1] := Determinant(Sample( DiscreteUniformRandomVariable(O,N y —n_y), 1)) :
for ifrom 2 ton_y do

DiscreteUniformRandomVariable [O, N x—n x

T yli] == Determinant[Sample DiscreteUniformRandomVariable[O, Ny—ny

i—1
—ZU[H],I)]:
k=1
end do:

R y = [seq(7 y[nl],nl=1.n_y) |, W:= GenerateUniform(n_x,0, 1) : for iii from 1
ton_xdo
1

iii
i+ . Ra{n x—jjj+1]

wliii] == WJ[iii] =1

end do: for sss from 1 ton_x do
SSS

uul[sss] == 1- H wln x-jj+ 11
Jii=1



[>

>

aorexp( -AA[1]-17)

1 —(1—oa)-exp(-AA[1]-1"°)
end do : w := GenerateUniform(n_y,0, 1) :
for ff from 1 ton_y do

x[sss] == fsolve| 1 —

1

7
f+ D Rony-F+1]
vol fi1=wlff1 ! :

end do:
for ss from 1 ton_y do

Olss]=1-| [ voln y-F +11;
F=1

oca-exp(—M[2]-tw)

y[ss] = fsolve| 1 —
1 — (1 —oox) -exp( - AA[2]-1)

=O0[ss], t=0 .infinity |:

end do :
R x:=1[5,1,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0]
R y=1[4,2,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0]

H[1] = describewam./el( [seq(x[i],i=1.n x)]);
H[2] = cle‘s*cribeqm,mez( [seq(x[i],i=1.n x)]);

H[3] := describe ([seq(x[il,i=1.mn_x)]);

'quarf[/cz
nil] = describeqummel( [seq(ylil,i=1.n_y)]);
ni2] = describequml./ez( [seq(ylil,i=1.ny)]);

ni3]:= describeqmm,eq( [seq(y[i],i=1.n_y)]);

H, :=0.8919374313
H, :=0.9282353678
H, :=0.9648029321
M, =0.8936760171
n, :=0.9530509723
M, = 0.9945568573

i want to solve the following equation :

>fsolve({(( H[1In(1+4 o)) —(H[2]U-ln( it j)) (( H{1In(143- o))

3

=uu(sss], t=0..infinity |:

(1.1)

(1.2)



3
- ( H[3 11 [ o J))} {0=0.1 .infinity, v=0.1 ..inﬁnily})
ﬁolve( {o 8919374313% In(1 + &) — 0.9282353678" ln(l + % oc), 0.8919374313" In( 1 a)

+30) —0.9648029321”In(1 + % oc) }, {o, v}, {@=0.1..0,v=0.1 oo})



